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GARCH generalized autoregressive conditional
hetroskedasticity
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GARCH(p,q)
GARCH (1.3)

t It GARCH
(1)

e @D

&y = o Uy (1.2)
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GJRGARCH

GJR
(Glosten=Jagannathan=Runkle) GARCH
GJRGARCH (1.3)
P P q
O-tz :0‘+Zai5t2—i +Zyist—igt2—i2ﬂi0t2—j (2)
i=1 i=1 j=1
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CAViaR

CAViaR Conditional Autoregressive Value at
Risk VaR [2]

o VaR Value at risk
@)

O
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1 VaR
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AS CAViaR

m Asymmetric Slope CAViaR

CAViaR

O
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AS CAViaR
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AS CAViaR (3)
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= CAViaR
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[3]

o (5) guantile regression [3]
O
Y. 01y -QO) ]+ > 1-9)]y.-Q(O)] ()
tly;2Q; () tly; <Q; (0)
t 1 t-1
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GARCH

o GARCH
garch
tgarch

o GARCH
simulate

script
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GARCH

2006/9/22

GJRGARCH

S-PLUS

3

17



GARCH

Simulated of Volatility by GARCH Simulated of Volatility by GARGH
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GJRGARCH

Simulated of Volatility by GJRGARGH Simulated of Volatility by GJRGARGH
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GARCH
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1.1 GARCH
10 20 100
JASDAQ 27.4% 3.9% 0.3%
S&P 8.7% 0.0% 12.1%
1.2 GJRGARCH
10 20 100
JASDAQ 27.5% 3.5% 0.3%
S&P 8.2% 0.0% 11.6%

S-PLUS

21



2006/9/22

GIJRGARCH
2

GARCH

JASDAQ

S&P

100

S-PLUS

GARCH

[1]

22



AS CAViaR

S-PLUS
o AS CAViaR
caviar : D
caviar
$percentile
$beta
$theta

$model
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m 95%
5%

= script
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function
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Asymmetnc Slope CAVIaR Fitting Asvmmetnc Slope CAVIaR Fitting

(JASDAD in—sample) (S&P insample)
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AS CAViaR
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function caviar $heta
95% 5%
(7)
o~ Q(0.95) —Q(0.05) (7)
3.25
5
@)
script F
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AS CAViaR

Simulated of Volatility by AS CAViaR Simulated of Volatility by AS GAViaR
JASDAQ S&P
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AS CAViaR

2
2 CAViaR
10 20 100

JASDAQ 8.5% 19.1% 0.2%
S&P 31.8% 1.2% 0.0%
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0

AS CAViaR GARCH
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= AS CAViaR
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GARCH
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B

## JASDAQ

tmp.J = ts(JASDAQ[.,5]) #

HV.J = vector(mode = "double',length = length(tmp.J) - 1) #
for(i in 1:length(tmp.J) - 1){

C (log(a/b))"2
HV.J[1] = ¢ * sqrt(250) *100
} #
HV.J = ts(HV.J) #
## S&P
tmp.S = ts(S.P[,5])
HV.S = vector(mode = "double',length = length(tmp.J) - 1)
1 in 1l:length(tmp.S) - 1){
a = tmp.S[i+1]
= tmp.S[1]
= (log(a/b))"2
HV.S[1] = ¢ * sqrt(250) *100
+
HV.S = ts(HV.S)
## plot
par(mfrow=c(1,2))
tsplot(HV.J, col=3)
title(main="JASDAQ Histrical Volatility”, xlab="Time", ylab="Volatility(%)')
tsplot(HV.S, col=3)
title(main="S&P Histrical Volatility", xlab="Time", ylab="Volatility(%)')
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C GARCH

2006/9/22

# script
#TGARCH garch tgarch

H
tmp = JASDAQ[.5]

leverage=T)

1000

datal.J = ts(tmp[1:1001]) #
data2.J = ts(tmp) #
data3.J = ts(getReturns(datal.J)) #
data4.J = ts(getReturns(data2.J)) #
eps.J = ts(getReturns(data2.J) - mean(getReturns(data2.J)[1:1000]))
#
# GARCH
# ~garch ~tgarch GJRGARCH
data.g.J = garch(data3.J~1,~garch(1,1), trace=F,
#it
data.s.J = ts(JASDAQ[.,5])
HV.1.J = 1l:length(data.s.J - 1)
for(i in 1:length(data.s.J - 1)){
a = data.s.J[1+1]
b = data.s.J[1]
c = (log(a/b))"2

HV.1.J[1] = ¢ * sgrt(250) *100

S-PLUS
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HH -> [5] P255

sigma.start.J = as.numeric(data.g.J$sigma.t[1000]) #
eps.start.J = as.numeric(data.g.J$residuals[1000]) #
eps.start.J = matrix(eps.start.J, 1, 1000) #

error.J = rbind(eps.start.J, matrix(rnorm(100*1000), 100))
set.seed(4989)
data.t.pred.J = simulate(data.g.J, n=100, n.rep=1000, sigma.start=sigma.start.J, etat=error.J)$sigma.t

#
vol _.mean.J = rowMeans(data.t.pred.J) #
vol .stdev.J = rowStdevs(data.t.pred.J)
sigma.2.J = (vol.mean)”2 * sqrt(250) * 100 # 1 250
Hit
HV.data.J = ts(HV.1.J[1001:1100]) #

par(mar=rep(6,4))

#
tsplot(sigma.2.J, col=4, range(0,1.5))
tslines(HV.data.J/10, col=3,axes=F)
par (new=TRUE)

#
tsplot(eps.J[1001:1100],axes=F,range(-0.7,0.1)) # plot
axis(side=4)
title(main="Simulated of Volatility by GARCH ¥n JASDAQ", xlab="Time"™, ylab=" 10 ™)
#
Hit
corr.100.J = cor(HV.data.J,sigma.2.J) # 100
r.2.100.J3 = (corr.100.3)"2
r.2.100.J
corr.20.J = cor(HV.data.J[1:20],sigma.2.J[1:20]) # 20
r.2.20.J = (corr.20.3)"2
r.2.20.J
corr.10.J = cor(HV.data.J[1:10],sigma.2.J[1:10]) # 10

r.2.10.J = (corr.10.3)"2
200692219 _ 3 S-PLUS



D function : caviar

#HH#QRSuUM
##Asymmetric Slope
QRSum.ASCAViaR = function(y,eps.p,eps-m,theta){

Time <- Set()
Slope <- Set(1:4)

length.time <- length(y)

i <- Element(set
t <- Element(set

Slope)
Time)

y <- Parameter(list(1:length.time,y), index = t)
eps.p <- Parameter(list(l:length.time,eps.p), index
eps.m <- Parameter(list(1l:length.time,eps.m), index

13
13

beta <- Variable(index = 1)
Q <- Variable(index = t)

obj = Objective(type="minimize')
Q[t+l,t<length.time] == beta[l] + beta[2] * Q[t] + beta[3] * eps.p[t] + beta[4] * eps.m[t]

obj ~ Sum(ife(y[t] >= Q[t].theta * (y[t] - Q[t])., (theta - 1) * (y[t] - Q[t])).t)

2006/9/22 S-PLUS
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##Symmetric Absolute Slope
QRSum.SASCAViaR = function(y,eps,theta){

QtD).H
}

2006/9/22

Time <- Set()
Slope <- Set(1l:3)

length.time <- length(y)
eps <- abs(eps)

<- Element(set

i Slope)
t <- Element(set

Time)

y <- Parameter(list(1:length.time,y), index = t)
abseps <- Parameter(list(l:length_time,eps),index = t)

beta <- Variable(index = 1)
Q <- Variable(index = t)

obj = Objective(type="minimize')
Q[t+l,t<length.time] == beta[l] + beta[2] * Q[t] + beta[3] * abseps[t]

obj ~ Sum(ife(y[t] >= Q[t].theta * (y[t] - Q[tl), (theta - 1) * (y[t] -

S-PLUS
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##Adaptive CAViaR
QRSum.AdptCAViaR = function(y,eps,theta){

Time <- Set()
Slope <- Set(1l:1)

length.time <- length(y)

<- Element(set

i Slope)
t <- Element(set

Time)

y <- Parameter(list(1:length.time,y), index = t)
eps <- Parameter(list(l:length.time,eps),index = t)

beta <- Variable(index = 1)
Q <- Variable(index = t)

obj = Objective(type="minimize™™)
Q[t+l,t<length.time] == Q[t] + beta[l] * (theta - i1fe(eps[t] <= Q[t].,1,0))
obj ~ Sum(ife(y[t] >= Q[t].theta * (y[t] - Q[t]), (theta - 1) * (y[t] -

Q) .H
}
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###CAVIaR

caviar = function(x,model="Asymmetric",prob=0.05,graph=T,scaling="on",ep=1e-3){
#
module(nuopt)

#
eps = diff(log(x))

#
iT(model == "Asymmetric'){
nuopt.options(maxitn = 200,method="auto,scaling=scaling,eps=ep)
#epsilon™+ epsilon™-
eps.p = ifelse(eps>0,eps,0)
eps.m = ifelse(eps<0,abs(eps),0)
#
result._.problem = System(model=QRSum.ASCAViaR,eps,eps.p,eps-m,prob)
result.solution = solve(result.problem)
}else 1f(model == "Symmetric'){
nuopt.options(maxitn = 200,method="auto',scaling=scaling,eps=ep)
2006/9/22 S-PLUS 39
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#

result._problem =
System(model=QRSum.SASCAViaR,eps,eps,prob)

result._solution = solve(result.problem)

}else 1f(model == "Adaptive'){
nuopt.options(maxitn =
150,method=""auto",scaling=scaling,eps=ep)
#
result.problem =
System(mode 1=QRSum.AdptCAViaR,eps,eps,prob)
result.solution = solve(result.problem)

}else{
print(” )
3

Q = result.solution$variable$Q$current

beta = result.solution$variable$beta$current

rslt = list(percentile = Q, beta = beta, theta =
prob,model=model)

iT(graph){
tsplot(eps)
lines(Q,col=6)
}
rsit

S-PLUS
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E CAViaR

##JASDAQ

data.J = JASDAQ[,5] #

asyca.05.J = caviar(data.J[1:1001], prob=0.05) # 5% AS CAViaR
asyca.95.J = caviar(data.J[1:1001], prob=0.95) # 95% AS CAViaR
guant.asyca.05.J = ts(asyca.05.J%percentile[2:1000]) # 5%
guant.asyca.95.J = ts(asyca.-95.J%percentile[2:1000])# 95%

eps.J = ts(getReturns(data.J) - mean(getReturns(data.J)[1:1000])) #

##S&P

data.S = S.P[,5]

asyca.05.S = caviar(data.S[1:1001], prob=0.05)
asyca.95.S = caviar(data.S[1:1001], prob=0.95)

quant.asyca.05.S = ts(asyca.05.S$percentile[2:1000])

gquant.asyca.95.S = ts(asyca.95.S$percentile[2:1000])

eps.S = ts(getReturns(data.S) - mean(getReturns(data.S)[1:1000]))

#Hplot

par(mfrow=c(1,2)) #2

tsplot(eps.J[2:1000], col=2, range(-0.2,0.12))

tslines(quant.asyca.95.J, col=4)

tslines(quant.asyca.05.J, col=3)

title(main="Asymmetric Slope CAViaR Fitting ¥n (JASDAQ in-sample)",xlab="Time",ylab="log.return™™)
tsplot(eps-S[2:1000], col=2, range(-0.2,0.12))

tslines(quant.asyca.95.S, col=4)

tslines(quant.asyca.05.S, col=3)

title(main="Asymmetric Slope CAViaR Fitting ¥n (S&P in-sample)™, xlab="Time", ylab="log.return")
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F CAViaR

#Hpredict quantile

epsp-J = ifelse(eps.J > 0, eps.J, 0) #(3) 3 epsilon-plus
epsm.J = ifelse(eps.J < 0, abs(eps-.J), 0) #(3) 3 epsilon-minus
epsp-S = ifelse(eps.S > 0, eps.S, 0)

epsm.S = ifelse(eps.S < 0, abs(eps-S), 0)

pred.quant.05.J = vector(mode = "double',length=1100) #
pred.quant.95.J = vector(mode = "double', length=1100)

pred.quant.05.S = vector(mode = "double', length=1100)

pred.quant.95.S = vector(mode = "double', length=1100)

#

for(i in 1:100){

if( == 1){
pred.quant.05.J[i+1000] = asyca.05.J%beta[1l] + asyca.05.J%beta[2] * asyca.05.J$percentile[1000]
+ asyca.05.J%beta[3] * epsp.J[i+999] + asyca.05.J%$beta[4] * epsm.J[i+999]
pred.quant.95.J[i+1000] = asyca.95.J%beta[1l] + asyca.95.J%beta[2] * asyca.95.J$percentile[1000]
+ asyca.95.J%beta[3] * epsp.J[i+999] + asyca.05.J%$beta[4] * epsm.J[i+999]
pred.quant.05.S[i+1000] = asyca.05.S$beta[1l] + asyca.05.S$beta[2] * asyca.05.S$percentile[1000]
+ asyca.05.S$beta[3] * epsp-S[i+999] + asyca.05.S$beta[4] * epsm.S[i+999]
pred.quant.95.S[i+1000] = asyca.95.S$beta[1l] + asyca.95.S$beta[2] * asyca.95.S$percentile[1000]
+ asyca.95.S$beta[3] * epsp-S[i+999] + asyca.05.S$beta[4] * epsm.S[i+999]
}
else{
pred.quant.05.J[i+1000] = asyca.05.J%beta[1l] + asyca.05.J%beta[2] * pred.quant.05.J[i+999]
+ asyca.05.J%beta[3] * epsp.J[i+999] + asyca.05.J%$beta[4] * epsm.J[i+999]
pred.quant.95.J[i+1000] = asyca.95.J%beta[1l] + asyca.95.J%beta[2] * pred.quant.95.J[i+999]
+ asyca.95.J%beta[3] * epsp.J[i+999] + asyca.05.J%$beta[4] * epsm.J[i+999]
pred.quant.05.S[i+1000] = asyca.05.S$beta[1l] + asyca.05.S$beta[2] * pred.quant.05.S[i+999]
+ asyca.05.S$beta[3] * epsp-S[i+999] + asyca.05.S$beta[4] * epsm.S[i+999]
pred.quant.95.S[i+1000] = asyca.95.S$beta[1l] + asyca.95.S$beta[2] * pred.quant.95.S[i+999]
+ asyca.95.S$beta[3] * epsp-S[i+999] + asyca.05.S$beta[4] * epsm.S[i+999]
}
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pred.quant.05.J
pred.quant.05.J
pred.quant.95.J

pred.quant.05.J[1001:1100] #5%

pred.quant.95.J[1001:1100] #95%

pred.quant.05.S pred.quant.05.S[1001:1100]

pred.quant.95.S pred.quant.95.S[1001:1100]

##predict volatility

pred.vol.J = ts ((pred.quant.95.J - pred.quant.05.J)/3.25)"2 * sqrt(250) *100
#(7)

pred.vol.S = ts ((pred.quant.95.S - pred.quant.05.S)/3.25)"2 * sqrt(250) *100

##predict volatility plot

par(mfrow=c(1,1))

par(mar=rep(6,4))

tsplot(pred.vol.J, range(0,2),col=4)

tslines(HV.J[1001:1100]/10,col=3)

par(new=TRUE)

tsplot(eps-.J[1001:1100],axes=F,range(-0.7,0.1))

axis(side=4)

title(main="Simulated of Volatility by AS CAViaR ¥n JASDAQ"™, xlab="Time",

ylab="" 10 "™

par(mar=rep(6,4))

tsplot(pred.vol.S, range(0,0.6),col=4)

tslines(HV.S[1001:1100]/10,col=3)

par(new=TRUE)

tsplot(eps-.S[1001:1100],axes=F,range(-0.7,0.1))

axis(side=4)

title(main="Simulated of Volatility by AS CAViaR ¥n S&P', xlab="Time",

ylab="" 10 ™)
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H#
pred

pred.
pred.
.corr.J.20 = cor(HV.J[1001:1020],pred.vol_.J[1:20])
pred.
pred.
.corr.J.10 = cor(HV.J[1001:1010],pred.vol _.J[1:10])

pred

pred

pred.
pred.
.corr.S.100 = cor(HV.S[1001:1100],pred.vol.S[1:100])

pred

pred.
pred.
.corr.S.20 = cor(HV.S[1001:1020],pred.vol.S[1:20])
pred.
pred.
.corr.S.10 = cor(HV.S[1001:1010],pred.vol _S[1:10])

pred

pred

pred.
pred.

.corr.J.100 = cor(HV.J[1001:1100],pred.vol.J[1:100])

r.2.J3.100 = (pred.corr.J.100)"2
r.2.J3.100

r.2.3.20 = (pred.corr.J.20)"2
r.2.3.20

r.2.3.10 = (pred.corr.J.10)"2
r.2.J3.10
r.2.S.100 = (pred.corr.S.100)"2

r.2.5.100

r.2.5.20 = (pred.corr.S.20)"2
r.2.5.20

r.2.S.10 = (pred.corr.S.10)"2
r.2.5.10
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